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4.528 = 4+ +0.5 4 0.02 + 0.008
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® 0.4,0.2,0.8 ® 0.4,0.02,0.08 ® 0.4,0.02,0.008

@ 4,0.2,0.08 ® 4,0.02,0.008
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(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
@ (1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478
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@ 10097 54 2707F 1.86 g T FH5HT
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@ 0.38+0.84 © 1.84-0.17

© 047405 ® 1.9-0.62
® 0.0,6.@ @ ©..06 ® ©.0e.0
@ ©.0.0.6 ® ©0.0.6
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@® 9.203 < 9.204 ® 0.963 > 0.059 ® 10.0 > 0.932

@ 0.09>9.10 ® 8.107 < 8.201
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@ 7.145, 7.175 @ 7.15, 7.19 @ 7.155, 7.185

@ 7.16, 7.185 ® 7.16, 7.19
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® 45.397 @ 45.337 ® 45.3
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